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Max. Marks: 70
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PART - A
Answer any five questions. (5x2 = 10 Marks)
1 Determine 'p’ such that f(2) = I—log( yleyT)eitan "{-""—':is an analytic function.
2 L L
~ 2 Evaluate f - -.-‘f where C is the circle ) 2| = 3. F ‘ ":__
e Y
3 Find the residue of f(z) = -3 : atitspolez=2.. »‘%
(:=1D (z-2)z-3) ; .

Classify singularity of the function /) - g’

State Dirichlet's conditions for the exrstence of Fourieg seri’es

Find bn in the Fourier series expansion of f(x) R - ﬁn (0, 3).

Find the partial differential equation by ehmmatlngﬁhb arbttrary function f from z = flx? = ).

Solve xp + yq = 3. L

. 1 e

Solve z=px gy +yl+p +4

10 Find a particular integral of the equat:on
{‘!Z 6": : 6!-’ rele Al R -
Si——d—r=e W
éx ax Oy oy g
SR ; PART - B
' (415 = 60 Marks)

Answer any fm(f questions.

; p E
11'{8) Fmd the anaMiC fUﬂCtlon f(z)=u+v Where Vi{x.,y)= e_’(.ir cosy + ysin y)

1 ?
\

(b} If £(a)~ j .*"- 53 where C is the ellipse | -‘. *:,rig - 1, then find,
¥z -a Y *\2) \3)
(i) F(3. ) (i) F(i) (iii) F'(-1) (iv) F"(-1)
2' -6z -1 ,
in the region

2 ind the Laurent's series expans(on of f(z)=
8 V)] (z-1{z=3Xz+2)

-.<|2+2|‘5-

valuate | '—

v o+ 1
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2.
+{\dgtainihalf range Fourier cosine series of the function
- kv, 0sxsi:2
Y 'f(‘]w'.‘k:.r-n. (2¢xs!
|
Hence find the sum l— -11-:- A
1° :
+141(a) Solve x(y = 2) p + y(z ~x)q = 2(x - Y). ~

» * (b) Solve 2z - px? ~ 2qxy + pq = 0 by Charpit's method. >

15 Solve ““. . with boundary conditions u(x, 0) = 3sinx, and u(0, t) = u(1

ot fx’ *7 1nf

where 0 <x<1,t>0. .a}

2-+3

maps the clicle v+ )2 = 4x = 0
=~-4 :

. 15;\(}) Show that the bilinear transformation v -

into the line 4u + 3 = 0.

AS

- V4
> @sing Cauchy's residue theorem evaluate f——-L~ -where C is the circle

(1 l)(""ZJ
[z=-2]=1 -
2
17 (a) Solve
R 0’z @’z
-=-12 - =sin X,

ax’ axdy 8y’

(b) Solve 22 = pq .
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